
MZ Series: Mounting Tips 19

For additional information or assistance, call 1-800-962-6111 or e-mail us at info@safetygate.com

For additional information, please visit our website at www.safetygate.com

Hardware
Parts...........................................Quantity
A. Left Support Weldment................................. 1
B. Pivot Weldments........................................... 2
C. Rail w/Toe Board Weldment.......................... 1
D. 2” Washers.................................................... 2
E. Rail Weldment............................................... 1
F. Right Support Weldment................................ 1
G. 3/4” Hex Bolts............................................... 2
H. 3/4” Flat Washers.......................................... 4
I. 3/4” Nuts......................................................... 2
J. 3/8” Nuts........................................................ 8
K. 3/8” Flat Washers......................................... 16
L. 3/8” Hex Bolts................................................ 8
M. Plastic Plugs................................................. 4 

Safety Note: There must be OSHA-approved fall protection devices in use during the installation of this product! Assemble the unit away from the 
edge of the mezzanine. After assembly is complete, move the MZ-Pivot Gate to the edge as shown and anchor to the floor.

The right and left side Mounting Frames (1) are pre-assembled at the factory. Note that the pivot point is not centered on the Mount Frame. Distance 
“X” is greater than distance “Y”. The gate section with the Toe Board (3 ) must be installed on the “X” side as shown.

Installation

Step 1: Insert the gate section (2) into the receivers as 
shown and secure with the supplied hardware items J, K 
and L.

Step 2: Repeat the same process for gate section (3).

Step 3: Move the entire assembly to the edge of the 
mezzanine. The Toe Board shoud be on the same end as 
the edge of the mezzanine or platform. 

Step 4: Multiple slots are provided to secure the as-
sembly to the floor. You must use a minimum of (4) 3/8” 
fasteners per side, for a total of 8 fasteners. The fasteners 
should penetrate through the surface and be secured on 
the bottom side with washers and nuts.

Step 5: Adjustment bolts (4) can be used to increase 
or decrease friction to the desired tension required to 
open and close the gate.

Suggested Tools: 9/16” Socket and a 9/16” Wrench

 X 

 Y 

M.
E.

B.

F.

C.

I. H.
B.

D. H.

G.

A.

B.

J.

K.

K.
L.

3

1
2

1

4


